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Note: All questions are compulsory. Marks are indicated against each qu?%‘ﬂpn tfz? s%uare

brackets.
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Q1. What are the limitations of Karnaugh Map? Apply Qume-McCluskey ﬂg,ethﬁ :-‘0 realize the
following function using NAND gates only. . 'Ya,, ?iéfia [05]

.

F(w,x,y,2) = ¥m(1,3,7,11,15) ﬁ_ﬁ{(’o % 53@-»,.#

ﬁ‘ceﬁw? matrix for the following
[05]

Q2. Explain perfect graph, Write the incidence matrixdgnd gdg

graph of Fig 1.

Q3. Apply Shanons : pans}onr on Boolean expression F(4,B,C)=AB+BC to get its

canomcal;SOJ? ‘f_ rm ‘Wnte its min terms and max terms. [05]

Q4. Differeﬁ*ﬁggsz ,:; OBDD & ROBDD. Also, draw reduced ordered binary decision diagram

&ﬁ,oi‘ tﬁE; followlmg Boolean function. Given order is r—q—p. [05]
#% 5, © b F(p.q,7) = pq + qF

Q5. W]{g?%is\;shenhurst-Curtis Decomposition? What are the advantages of this technique? [05]
(6. What do you understand by False-path in VLSI? Explain some common scenario where
false-paths can be applied. [05]
Q7. Explain Product term, Sum term, Sum of product term, Product of sum term, Implicant,
Prime implicant, Essential prime implicant. Apply iterated consensus method to minimize

the function F(x,y,z) = %Z + xyZ + xyZ + xyz. [05]



